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MATHEMATICS

51. Probability of impossible eventis

(H o 2 1
(3) 1.00r0.5 4 05
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52. In AABC, DE || Bc:md———g AC = 5.6, then AE =
(1) 1.8cm 2) 3.5cm
3) 1.2cm 4) 2.1cm
AD 3
AE=__ S «AC=56("¢ —--J:IDEuBc‘;ABC._J»
(35 ¢ 18 (1)
21 @) 1.2

§3. AABC ~APQR, ZA =50°then ZQ+ £R =

ZQ+ LR = &F ¢ ZA=50°LAABC ~ APQR
(1) 120° (2 110°
(3) 130° (4) 80°
§4. Area of regular hexagon of side ‘a’ unitsis,______ sq. units.
WG, e ukbiw & ﬁc—k"—uw‘wf"d"" -4
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Angle of a sector is 60° and radius is.14 cm, then its area is cm?,
- Cr FMINNB IR 14 J5id 31 60° 2 KLE S5
(1) 100.6 (2) 102.67
(3) 1116 (4) 98.66
Value of cos?0° + cos’60° is
15§ cos20° + cos?60° 56
5 2
M 3 (2) x_ﬁ
) @ X
( ) ,JE P

If a dice is rolled, then the probability of getting an even number is

S s gz p LISt 8T

(1) % 2) 3

Wl

3) 4)
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In a square, the diagonal is times of its side

...g..l.fr Kéh;.!b’d s 58
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59. -Ratio of volumes of cylinder and cone whose radii are equal and having same height is

(ry 1:3

(3) 3:

2) 1:2
4) 2:1

60. tan O is not defined when ‘0’ 1s

(1y o°
(3) 60°

(2) 30°
@) 90°

3
61. Ifsec 6 =3K and tan 8 =7 then o

() 9

3) 3

K2

= K2

1
@ 3

.
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62. Iftan® ='\T3* then 7 sin20 + 3 cos?0 =

(T)

£=]1O _h_la

3)
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& ‘B‘ubj:c;:.(ﬁb: Jtan ©

3
K

{—--“-—-"" c)_lf’.uﬁﬁ Lu‘;ﬂi.adij:ﬂi/ﬁ;ﬁd:uh F 1l i-i:f 59

.60

— wrtan 0 =7Ts3sec O = 3I\'jl .61

- 1
7 sin?0 + 3 cos’0 = «~ tan O 1 | .62

7
) 3
4 1
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From the 50 cards numbered from 1 to 50, a card is drawn at random, then the

probability that the number on the card is divisible by 8 is

Lﬁ.{_%r‘:ﬁ‘r_ 8" LIS b LU 50 ¢ ndl F50c1 .63

U Pud s
| 2
3. 3
) 39 @ 35
Median of the data 6, 10, 20, x, 12, 14 is 12, then x =
x= e 122676, 10,20, 5, 12, 14 .64
(1 6 2) 10
(3) 4 4) 14
If AABC ~ ADEF. BC = 4 ¢cm, EF = 5 cm and AABC = 80 cm2, then ADEF =
cm-.
= ADEF <~ «AABC = 80 (&/ HEF =5 (‘: BC = 4 (<« AABC ~ ADEF S 65
LCr_
(1) o4 2) 125
(3) 144 4 169
Perimeter of a sector 1s units.
Y 1941 KB L1y .66
Ir X,
M 3 ) 360%™
3) 2(1+7) ' @) 1+2r
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67. In a right circular cone,\/(1+ ) (1-1) = ' -3 ' ""
(1) slant height (2) vertical height
(3) radius of the base (4) diameter of the base

NT+D(-n=____ LhFusfeLl 67
SASL

Lfij.ulurf (2)

/éb’a.xl"' (4) sk 46 (3)

68. Volume of a cube is 512 cm?, then its edge is

(1) 8cm | (2) 6cm
(3) 14cm (4) 18cm
e uns H512 L6 AL 68
6 () 8 (1)
18 4 14 ()

69. T.S.A of a solid hemisphere whose radius is x cm is 147 1t cm?. Then ‘x* is

e X Fonf x Pid LY 14T ¢SSP 69

(1 21 ) 15
3) 8 4 7

70. Ifcosec8=2and cot= \ﬁp where ‘0’ is an acute angle, then p =

p=_ Fedmgtli 1o 0 UZ cot 0 =13p usl cosec0=2 J1 .70
() 2 i 2 1
® 3 @ 3
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If cos 26 = sin 48, here 20, 40 are acute angles, then the value of ‘0’ = .

q’_;jd/ ‘0’wr (LIZ-91J 030 40451 20 cos 20 =sin40 .71

() 60° (2) 30°
3) 45° 4 15°

The mean of first five prime numbers is

b o651 613 ék# 72

nH 4 (2) 4.6
(3) 56 4 5

The value of log ﬁ64 is

q.u:‘- Jlog ﬁ64 g3

(1) -6 2) 12
3) 6 4) 8
74. IfSisarootofx2— (K —1)x+ 10 =0, then the value of K is
e BUK Cee 5 Bl - (K-1)x+10=0 .74
(n -8 2 7
3) 8 4 12
78. Sum of the roots of x2 - 16 =0 is
e sAWURKblo2-16=0 .75
1
M 16 | @ 1
(3) O 4) 16
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76. 1fA = {x/xeN and 1 <x< 6}, then n(A) = . , 81. The equation x2 + x + 1 =0 has
(1) real equal roots (2) no real roots
N(A)= «aer A= {x/xeN sl 1 <x< 6}/ .76 (3) real and unequal roots 4 Allof the above
1) 6 2
(1) ) S L2 +x+1=0bl- 81
3) 4 “4) 2 : -
I 4 ) E b

77. IfAcB and Bc D, then e @ E s g )

_~ AcB » BecD/J1I 77
82. The symbol for an empty set is

() A=B (2 AcD (H {} 2) ¢
(3) B=D 4 DcA 3 {o} 4) (or(2)
..‘:'—f'llid/(empty set) 206 .82
78. The degree of a quadratic equation is | ¢ () (y ()

(el 18 Avm @ | o, 3)
28l

83. If AnB=¢,then the sets A, B are

(1) | (2 0 (1) equal sets (2) subsets
3) 2 @4 3 (3) disjoint sets (4) equivalent sets
LﬂLﬁJLA‘B__FAﬁB=¢/i 83
79. Logarithmic form of ’Uﬁ =21s ' L;:f i 2) J'L— S (1)
i . b .
1 _1
() logy2= 3 (2) log,8= 3 84. The zeroes of the polynomial (shown in the graph) are
(3) log, 8=2 (4) log,2=0 P LFIFREILL L 3
3 3 A
80. The discriminant of the equation px? + qx +r=01is
%'/?(prz +qv+r=0=bl- .80 (_—f(;m _ >
v
(1) q*+4pr (2) q*-4pr 1) (2,0 2) (0,-2)
g | MPC/EET [15] Turn Over
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85. To find out the slant height of a cone, we use theorem. | 89. Thepoint(-3,-8)liesin ___ quadrant.

(1) Thales (2) S.AS , : _ ;

- Ll ; -5,-8)b0 .89
(3) Pythagoras (4) SSS | _ e “kkﬂd" SRS )
" - S o e % . N 1 ’
S LLL S S ST WSnfl 8 R % -8
‘ - (3) I 4) 1V
SAS (2) | u:"-'-/ ()
| o 90. Ifa,b,carein G.P,thenb= ‘
SSS ) (Pythagoras) &'V (3) _
b=  —can sl 2 a b, c ,ﬁ 90

86. Values of sin 30°, sin 90°, sec 60° are in | 5, ate

(1) AP 2) G.P (1) ac . 2 —

(3) H.P 4) (or(3) b

. @ 4 fac
I 24 Ssin 30°, sin 90°, sec 60° .86
J‘wd}:”f (2) ﬁtjdl.-’ (N \ 91. The nextterm of the A.P (a+ 3d),(a+d),(a—-d), ....1s
AL @ ©idr () ] S 1A LI Yo @+ 3d) (a+ ). (a-d). ... I
(1) a+2d (2) a-2d
; - ; : ; "

87. Which of the following formulae is associated to cylinder ’ (3) a-4d @) a-3d

:g_,wuui.;&w At 8T

) ;ﬂtrzh ) nch 92. The number of cubes of edge 2 cm which can be cut out from a cube of edge 6 cm 1s
2 4 ?L,B’é -.L(Z.,ﬁ"/Li:L.;L‘f('Z;_JLhé.:L.JW’(ﬁ 92
(3) 3n 4) 3m
(1) 9 (2) 18
88. Thelinex=-13is (3) 27 4) 3
(1) parallel to x-axis (2) parallel to y-axis
(3) passes through ongin (4) passes through (0, - 3)
93. Which term of the A.P - 18,16, — 14, .... is first positive term ”
&x=-3L .88 -
: - Ce st/ AT alIdo- 18, - 16,14, .. 93
SHaerlif-y (2 Sl -x (1) '
4y (2)
L'J:'fd.— (0,-3) Ji (4) tx}(c;..fﬁa (3) 3) t, . @t
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94. A solid iron cuboid of dimensions 49 cm X 33 cm.%.24 cm is melted to, form a solid

sphere, then its radius is

. a1+ 1)
Ll

(1) 2lcem ; (2) 13cm
(3) 24cm (4 18cm
g_)jdib’wiy_t:a}(uﬂ/ Wk 49~ x 3¢ % 24 (7 LU b Jles ki .94
13 (2) ( 21 (1)
(18 (4) (24 (3)

95. The solution of the equations -\ﬁ.r - \ﬁy =0 and \f§x+ \ﬁy =0is

LEJ’L-:J)L-‘ '\J—S-.ﬁ* \5}' =0 s904/3x —‘\ﬁy =0 .95

(1) x=3,y=7 | (2) x=8,y=3
(3) x=0,y=1 4 x=0,y=0
96. If 16, x, 36 are in G.P, then x =
X= .,.:ruys")fﬁljd/"f:ﬁ 16, x, 36 ;' 96
(1 24 (2) 26
(3) 28 (4) 30

97. Ify=3, then the value of ‘x” satisfying the equation 'f‘ + % =6 is

?“;_J/(c}f}’f%+%=6 .:'.-I:L-f‘.tjojlrd/‘,\" -5 y=3/l 97

(1 3 (2) %
l
) 73 @
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98. The value of tan 0 in terms of sin Q is

1'4.;): sin 0 J.;’.J tan® 98

\fsin®- 1

sin O
(1) | — sinZ@ (2) sin 0
i jl — sin0
3) sin® 4) -

| —sin’0

99. Distance between the points

A (log,,1000, tan 45°), B (cosec 30° log,343) is
(1) '\[ﬁ units (2) '\II_O units
(3) \13_4 units {(4) \B units

,J-IGG_VJ:( A (log,,1000, tan 45°), B (cosec 30°, log,343) .99

weki V10 ) w13 ()

UL N5 (@) Kk B34 3)

100. Mid values are used to find

(1) mean (2) median
(3) mode ) (4) range
gﬂl./rdb;‘lb’u:;;(;’:iﬁé.frsh’ 100
Sbes  (2) bt (1)
= (4) <% )
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